0

® x+y

@ a+b=c+d

® 3-1

® 2x = 3x

@ 4+5=11



ol

ZHTH]

Eis

o] At}

=3x-1

@ 2x+5

@ 3x+2=5x-4

@ 3x-2=>5x+4

@ 2x-5=3x+1

® 3x+2=5x+4



= -2(-3x-1)

© 6x+2

@ 2x+1=0

® hx+1=5x-2

© x:5="7x:2

@ 5x

—X

@ e,0 000,66 ®e ® @

ONQ)



3x+a=>5x—2(x-4) ]

4.

@ 5 B 8

3 3






o2 I 22 g Rt ek uhE R O] izt
@ 9] Adoj¢t © 9] Aol= BF 5em 2Fal g},
HZ-4 @ 9 AolE x em 0], g4 © 9
40|15 3em AT ghrh. HPH 9| npE R o]
wol7t 8em? A |, x 9] gt& Shoizt.

ge e



FA A =T) +2 = 3(x-8) + 1o $H0] G BE oz
S A5l ax + b =09 B2 vebH 2122

-,
o
oli
ol
Rl

N
rE

® -3x-3=0 ® -3x+3=0 ® -x-3=0

@ x-3=0 B x—1=0



? (Fa%tbe

? 21 A 28 @ 31 ® 35

D 17



ol 42 28 25

9.

sholat.

57

P
rle‘TE

g, of



10.

O x+y=25 @ x+(x+1)=25
® x+2x=25 @ x=2x

B) x4+ 925 = 2x



11. +

242 o] 4471 Qlek. A A2 o] SeAF 7 o] 1, o] A4
A2 0] g:7to] §o] 4 it 3 o] ATk gtk o] AL T

2,
ge

LSS
T

7_'
5t



12. 23 oMy treli 53 A, ob5 9] tholi 17 Alo]th. @ g o]
oL o] Lfo]7} oF50] Lol o] 4 w7} H]Gli=A] Tfelat.

e d



o
w

rd oo ol

Ll
=
o,

oA BE5otE Uire] F=d 3 i o] 3 8 7i7t
Lol =9 54 7§7F RAjgt), olnf|, Egobl] Zi4eo

ue ze?

o Rl oo
IR

lo X
1%

rl

D 3x-8=4x+54 @ -3x—-8=4x+54
® 3x+8=4x+54 @ 3x+8=4x-54

® —3x+8=—-4x—-54



14. o& % ( )Qto] =7 1 8 Al o] s 7} obd AL
1 3
@® 7x-40=2x (8) @ Z);_125(7)

® 14=-2x+18(2) @ 5x-T7=8x+11(-6)

® 2y+2=-3y-8(-2)






16.

4% 9] 235 750g ©] 3}, 7o & 250g 2 ¢ &
TE&=?

D 2% ® 3% A 12% @ 20%

3 30%



17. 10% 9 AF% 200g I 5% o AFE 300g = F5HH 2 % o &F
=HAE=71?

Al
—

=°] =7

@D 7% @ 8% 3 99% @ 10% 3 11%



18.



10] 7t A2 e o, a 9 3L
(4x+3), 6-3x=-2(x-a)

Tafolat,



20.

Ao A Ty H7bA] A& 80km 2 E= HAS Bl 71 A&
90km 2 e 5822 Z wEot 40 & =7 =gk oA

=l

Foly 97t e] A2l 2o

O 400km @ 420km ® 440km
@ 460 km 3 480 km



